
252 Granite Street, Corona, CA 92879                              
Support: 951-493-7100 

www.aFePower.com 

 

Last Updated: 
08/10/21 JRS 

  ®

Throttle Body Spacer 

PN 46-37002 

Important!  
Please verify the parts list and read all instruction steps before you begin installation. 

(Accord shown in photo) 
 

Make Model Year Engine Make  Model Year Engine 

Honda Accord 08-17 V6-3.5L Acura TSX 10-14 V6-3.5L 

Honda Pilot 05-15 V6-3.5L Acura RL 05-08 V6-3.5L 

Honda Ridgeline 06-14 V6-3.5L Acura             TL 07-14 V6-3.5L 

Honda Odyssey 05-16 V6-3.5L Honda  Accord Crosstour 10-11 V6-3.5L 

Honda Crosstour 12-15 V6-3.5L     
  

 

 
 

 

NOTE: If you have an aftermarket air intake system, you may have to adjust or trim the intake tube for 
the throttle body’s new position. 

 Loosen and remove the engine cover. Disconnect the crankcase hose from the air intake tube. Loosen clamps at 
throttle body and air box, then remove the air intake tube. 

 Remove the throttle body by removing the two screws and the two nuts. Remove the two studs from the intake 
manifold using the double nut method. (Place the two OE nuts on the studs and lock them together. Then back 
the studs from the intake manifold.) 

 Insert the new  throttle body spacer and provided gasket between the throttle body and manifold as 

shown. The “Air-In” side should face the throttle body and the gasket should go between the throttle body and 
the throttle body spacer.  

 Fasten the throttle body assembly using the (4) furnished M8 screws, lock washers, and flat washers. Tighten 
the screws to 15 ft/lb. 

 Reinstall the intake tube. Make sure to tighten all clamps and reconnect the crankcase hose. 
NOTE: This part has been exempt by the California Air Resources Board (C.A.R.B.) and issued an Executive Order (E.O.). If part 
does not come with C.A.R.B. E.O. sticker already placed on device, it is necessary to place the sticker on or near the device on 
a smooth, clean surface. The C.A.R.B. E.O. sticker is required to pass the smog test inspections in the state of California. 

Make sure to retighten all bolts and clamps after 100 miles of driving. 

   
   

  

Parts List 
1    Spacer 

1   Gasket 
4   M8 x 80mm screws 
4   M8 flat washers 
4   M8 lock washers 


